V2 64 7 A 1 ABAE (HoAD : AARA+HSEA)

RrHT4 PR | R |5 (A) | g [ & (B) | 3 | &H(A+B) [
R 2, 150 8 2,701 8 2,715 4 5,416 12
JHFTET—T H 912 -1 951 -5 889 0 1, 840 -5
JEIPTHT — T H 540 -1 612 -3 581 0 1,193 -3
AP =TH 587 3 700 4 657 3 1, 357 7
JHFTETY T H 405 4 481 7 508 -1 989 6
JHTHET T H 292 0 336 0 311 -1 647 -1
JHTHT ST H 259 0 348 0 361 0 709 0
oy 210 2 238 3 241 0 479 3

=5 355 2 476 2 491 1 967 3

T H 1,714 1 2,053 0 2,078 2 4, 131 2
PIHTHT 328 -1 374 2 348 -2 722 0

T 807 -1 934 -2 879 -2 1,813 —4

B —TH 239 1 357 1 380 1 737 2
T — T B 298 2 458 2 420 0 878 2
BT =T H 470 -1 679 -3 703 0 1, 382 -3
TP T H 229 1 364 0 354 3 718 3
A 226 0 294 0 288 -1 582 -1

H] = 292 1 387 ) 377 0 764 -2

=R 430 -1 496 -2 511 -2 1, 007 —4

— Y KFNT—TH 0 0 0 0 0 0 0 0
—YRHEI - TH 27 0 42 0 34 0 76 0
GIELEI 91 -1 132 1 132 -1 264 0

— Y KT H 4 0 6 0 6 0 12 0
K H 2 45 588 1 812 -3 836 -3 1, 648 -6

[E TN 3, 958 -9 4, 809 5 4, 867 6 9, 676 11

A 4, 195 -10 4,601 -13 4,578 4 9, 179 -9

TR 1,234 0 1,476 -1 1, 540 3 3,016 2
=R 6 0 8 0 8 0 16 0
BELH—TH 846 3 873 6 1, 006 2 1, 879 8
E+H_TH 1,037 -1 1, 160 -3 1,178 -3 2,338 -6
LR =TH 788 —4 890 -3 875 -5 1, 765 -8
AN TH 613 3 698 3 706 6 1, 404 9
B LR ATH 647 1 797 —4 762 0 1, 559 —4
& LHRANTH 0 0 0 0 0 0 0 0
%8 - T 1,732 4 1,974 3 1, 882 5 3, 856 8

oy —T1H 266 1 316 -2 327 3 643 1
Wy T H 238 2 277 0 240 3 517 3
Wy b ="TH 403 -1 480 -1 492 -1 972 -2
o EUT H 593 -5 667 —4 706 -5 1,373 -9
W R T H 392 0 494 2 537 0 1,031 2
HET—TH 246 0 313 -1 346 ) 659 -3
FEHT T H 539 -1 663 -1 698 -3 1, 361 —4
Rl =T H 206 0 257 1 308 1 565 9
2} 29, 392 9 34, 984 -3 35, 156 15 70, 140 12
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